
MATHS

BOOKS - TARGET MATHS (HINGLISH)

TRIGONOMETRIC FUNCTIONS

Classical Thinking

1. If  then  is

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

sin θ = and tan θ = ,
3

4

9

2
cos θ

1

6

8

27

27

8

15

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GGqwk9YW005D


Watch Video Solution

2. If  then  is equal to

A. 

B. 4

C. 2

D. 

Answer: B

Watch Video Solution

5 sin θ = 3,
secθ + tan θ

secθ − tan θ

1

4

1

2

3. 

A. 0

B. 1

C. 

+ =
sin θ

1 − cot θ

cos θ

1 − tan θ

cos θ − sin θ

https://dl.doubtnut.com/l/_GGqwk9YW005D
https://dl.doubtnut.com/l/_9P9XrlLCzR2A
https://dl.doubtnut.com/l/_UuzvwSzKXhqr


D. 

Answer: D

Watch Video Solution

cos θ + sin θ

4. If  and  then  lies in which quadrant

A. first quadrant

B. second quadrant

C. third quadrant

D. fourth quadrant

Answer: C

Watch Video Solution

sin θ = −
1

√2
tan θ = 1 θ

5. If  then  lies insin θ = − and cos θ = ,
1
2

√3
2

θ

https://dl.doubtnut.com/l/_UuzvwSzKXhqr
https://dl.doubtnut.com/l/_4lG8lRUFdwV0
https://dl.doubtnut.com/l/_n5z2LpYAXpR1


A.  quadrant

B.  quadrant

C.  quadrant

D.  quadrant

Answer: D

Watch Video Solution

1st

IInd

III rd

IV th

6. When  then tan x is

A. 1

B. 0

C. 

D. not defined

Answer: D

Watch Video Solution

x = ,
π

2

1

√3

https://dl.doubtnut.com/l/_n5z2LpYAXpR1
https://dl.doubtnut.com/l/_O5XmpxoPKaGU


7. Find the value of the : sin^2 pi/6 + cos^2 pi/3 - tan^2 pi/4`

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

1

2

−
1

2

√3

8. If  then x

A. 2

B. 4

C. 8

xsin 45∘ cos2 60∘ =
tan2 60∘ cos ec30∘

sec 45∘ cot2 30∘

https://dl.doubtnut.com/l/_O5XmpxoPKaGU
https://dl.doubtnut.com/l/_NVrEZkptCrRf
https://dl.doubtnut.com/l/_kxeVc0NvX6dG


D. 16

Answer: C

Watch Video Solution

9. If then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin θ = √3 cos θ, θ

45∘

30∘

75∘

60∘

https://dl.doubtnut.com/l/_kxeVc0NvX6dG
https://dl.doubtnut.com/l/_87EnUPbg5srZ


10. If  where  are

positive acute angles, then  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin(α − β) = and cos(α + β) = ,
1

2

1

2
α and β

α and β

α = 45∘ , β = 15∘

α = 15∘ , β = 45∘

α = 60∘ , β = 15∘

α = 15∘ , β = 60∘

11. If  then  is equal to

A. 

B. 

C. 

D. 

tan θ = ,
20

21
cos θ

±
20

41

±
1

21

±
21

29

±
20

21

https://dl.doubtnut.com/l/_0tz9QdcHRZbp
https://dl.doubtnut.com/l/_xGkWZip5uz6c


Answer: C

Watch Video Solution

12. If  lies in the fourth quadrant, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan θ = − and θ
1

√10
secθ =

1

√11

−1

√11

√
11

10

−√
10
11

13. If  and  lies in the first quadrant, the value of  is :

A. 

tan θ =
1

√5
θ cos θ

1

√6

https://dl.doubtnut.com/l/_xGkWZip5uz6c
https://dl.doubtnut.com/l/_gdbSs4OKsJkV
https://dl.doubtnut.com/l/_wsffQD1zwTNS


B. 

C. 

D. 

Answer: C

Watch Video Solution

−
1

√6

√5

√6

−
√5

√6

14. If  lies in the second quadrant, find the value of 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin θ = and θ
21

29

secθ + tan θ

2

5

5

2

−
2

5

−
5

2

https://dl.doubtnut.com/l/_wsffQD1zwTNS
https://dl.doubtnut.com/l/_S0ez7697CWGm


15.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sec4 x − sec2 x

tan4 x − tan2

tan4 x + tan2 x

tan2 x − tan4 x

2 tan2 x

16. Which of the following is ture ?

A. 

B. 

C. 

D. none of these

tan2 θ − sin2 θ = tan2 θ sin2 θ

sec2 cos ec2θ = sec2 θ − cos ec2θ

cos ec2θ + cot2 θ = cos ec2θ cot2 θ

https://dl.doubtnut.com/l/_S0ez7697CWGm
https://dl.doubtnut.com/l/_uoTzwTYACOtE
https://dl.doubtnut.com/l/_P0j7iuOSf1T4


Answer: A

Watch Video Solution

17. If  then 

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = secθ + tan θ, x + = .
1

x

2 secθ

2

2 tan θ

18. 

A. 

cot x + tanx =

cot 2x

https://dl.doubtnut.com/l/_P0j7iuOSf1T4
https://dl.doubtnut.com/l/_qxOoLbqEDjKf
https://dl.doubtnut.com/l/_Pl0eIf3U2DOr


B. 

C. 

D. 

Answer: C

Watch Video Solution

2 cot2 x

secx cos ecx

cot2 2x

19. The value of  is

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

sin2 20∘ + cos4 20∘

sin4 20∘ + cos2 20∘

1

2

https://dl.doubtnut.com/l/_Pl0eIf3U2DOr
https://dl.doubtnut.com/l/_6N85SqggEapg
https://dl.doubtnut.com/l/_4JuCcL1FJL9c


20. If  then  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = a cos θ + b sin θ and y = a sin θ − b cos θ. a2 + b2

x2 − y2

x2 + y2

(x + y)
2

(x − y)
2

21. If , then

A. 

B. 

C. 

x = a cos3 θ, y = b sin3 θ

( ) + ( ) = 1
a

x

2
3 b

y

2
3

( ) + ( ) = 1
b

x

2
3 a

y

2
3

( ) + ( ) = 1
x

a

2
3 y

b

2
3

https://dl.doubtnut.com/l/_4JuCcL1FJL9c
https://dl.doubtnut.com/l/_JY4I2cOlNuvI


D. 

Answer: C

Watch Video Solution

( ) + ( ) = 1
x

b

2
3 y

a

2
3

22. If  then the value of is

A. 1

B. 

C. 0

D. 2

Answer: A

Watch Video Solution

cos x + cos2 x = 1, . sin2 x + sin4 x

−1

23. If , then =sinx + sin2 x = 1 cos8 x + 2 cos6 x + cos4 x

https://dl.doubtnut.com/l/_JY4I2cOlNuvI
https://dl.doubtnut.com/l/_pp2izWh8jW51
https://dl.doubtnut.com/l/_PyvTVNX6YfqZ


A. 0

B. 

C. 2

D. 1

Answer: D

Watch Video Solution

−1

24. Which one of the following is incorrect ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ = −
1

5

cos θ = 1

secθ =
1

2

tan θ = 20

https://dl.doubtnut.com/l/_PyvTVNX6YfqZ
https://dl.doubtnut.com/l/_MkK8hRKhqETe


25. Which of the following is possible ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos θ =
7
5

sin θ =
8

5

secθ =
4
5

tan θ = 45

26. The smallest value of  is

A. 5

B. 12

C. 7

3 cos θ + 4 sin θ + 12

https://dl.doubtnut.com/l/_MkK8hRKhqETe
https://dl.doubtnut.com/l/_hu2biE7mogEF
https://dl.doubtnut.com/l/_2c3PkIELwclU


Critical Thinking

D. 17

Answer: C

Watch Video Solution

1. If  then the value of  is

A. 

B. 

C. 0

D. 

Answer: A

Watch Video Solution

tan θ =
p

q

p sin θ − q cos θ

p sin θ + q cos θ

p2 − q2

p2 + q2

p2 + q2

p2 − q2

p − q

p + q

https://dl.doubtnut.com/l/_2c3PkIELwclU
https://dl.doubtnut.com/l/_DRR2vN1rcsyX
https://dl.doubtnut.com/l/_XWmTiE3RZVHY


2. The value of  is always

A. less than 1

B. equal to 1

C. greater then 1, but less than 2

D. greater than or equal 2

Answer: D

Watch Video Solution

cos2 θ + sec2 θ

3. If  then 

A. 2

B. 

C. 

D. 

sinx + cos ecx = 2 sinn x + cos ecnx = ?

2n

2n− 1

2n− 1

https://dl.doubtnut.com/l/_XWmTiE3RZVHY
https://dl.doubtnut.com/l/_Vvy8loBz43xR


Answer: A

Watch Video Solution

4. Which of the following relations is correct ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 1 < sin 1∘

sin 1 > sin 1∘

sin 1 = sin 1∘

sin 1 = 1∘π

180

5. Which of the following is correct ?

A. tan 1 > tan 2

https://dl.doubtnut.com/l/_Vvy8loBz43xR
https://dl.doubtnut.com/l/_UI4QpYxFSGKW
https://dl.doubtnut.com/l/_7VVHyRB2MisB


B. 

C. 

D. 

Answer: A

Watch Video Solution

tan 1 = tan 2

tan 1 < tan 2

tan 1 = 1

6. If  then 

A. 0

B. 

C. 1

D. not defined

Answer: D

Watch Video Solution

cosA = ,
√3

2
tan 3A =

1

2

https://dl.doubtnut.com/l/_7VVHyRB2MisB
https://dl.doubtnut.com/l/_C8UWczA6te7d
https://dl.doubtnut.com/l/_Oq47TB1zzYms


7. If 
 , then the smallest positive

value of 
is.
 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan(A − B) = 1, sec(A + B) =
2

√3

B
25π

24

19π

24

13π

24

11π

24

25π

24

19π

24

13π

24

11π

24

8. If  and ,

then

A. 

B. 

C. 

sin(A + B + C) = 1, tan(A − B) = 1/√3 sec(A + C) = 2

A = 120∘ , B = 60∘ , C = 0∘

A = 60, B = 30∘ , C = 0∘

A = 90∘ , B = 60∘ , C = 30∘

https://dl.doubtnut.com/l/_Oq47TB1zzYms
https://dl.doubtnut.com/l/_eE3lNFK4391W


D. 

Answer: B

Watch Video Solution

A = 120∘ , B = 0∘ , C = 60∘

9. If  then

the value of 

A. 4

B. 2

C. 

D. 0

Answer: C

Watch Video Solution

cosA = , cosB = and < A < 0, < B < 0,
3

5
4
5

−π

2
−π

2

2 sinA + 4 sinB =

−4

https://dl.doubtnut.com/l/_eE3lNFK4391W
https://dl.doubtnut.com/l/_Sn5tK8rBVp3p


10. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ + secθ = √3, 0 < θ < π, θ

π

3

π

6

2π

3

5π

6

11. If  , then  is equal to

A. 

B. 

C. 

D. 

< θ <
π

2

3π

2
√

1 − sin θ

1 + sin θ

secθ − tan θ

secθ + tan θ

tan θ − secθ

sec2 θ + tan2 θ

https://dl.doubtnut.com/l/_xRFHHYG0YAy0
https://dl.doubtnut.com/l/_taiXieKJLKBy


Answer: C

Watch Video Solution

12. If `pi/2

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 secθ

−2 secθ

2 cos ecθ

2 cos θ

13. If `pi

A. 
2

sinα

https://dl.doubtnut.com/l/_taiXieKJLKBy
https://dl.doubtnut.com/l/_RfoYpqvK6QFF
https://dl.doubtnut.com/l/_EIrSCi33i9fN


B. 

C. 

D. 

Answer: B

Watch Video Solution

−
2

sinα

1

sinα

−
1

sinα

14. If 
 lies in second quadrant and 
 then the value of 


is equal to
 
(b) 
 
(d) 7/10

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A 3 tanA + 4 = 0,

2 cot A − 5 cosA + sinA −53/10 23/10 37/10

−53

10

−7
10

7
10

23

10

https://dl.doubtnut.com/l/_EIrSCi33i9fN
https://dl.doubtnut.com/l/_ESk5cMSMfk5p


15. If  then  lies in the

A. first quadrant

B. second quadrant

C. third quadrant

D. fourth quadrant

Answer: A

Watch Video Solution

secθ − tan θ = ,
1

2
θ

16. If  is equal to

A. 

B. 

C. 

D. 

cos θ + sin θ = √2 cos θ  then cos θ − sin θ

√2 sin θ

2 sin θ

−√2 sin θ

√2 cos θ

https://dl.doubtnut.com/l/_ESk5cMSMfk5p
https://dl.doubtnut.com/l/_OsGZ6JqDEQD1
https://dl.doubtnut.com/l/_d0KJrktZEfFF


Answer: A

Watch Video Solution

17. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinx + cos x = a |sinx − cos x| =

√2 − a2

√2 + a2

√a2 − 2

√a2 − 4

18. If , then find the value of .

A. 0

3 sin θ + 4 cos θ = 5 4 sin θ − 3 cos θ

https://dl.doubtnut.com/l/_d0KJrktZEfFF
https://dl.doubtnut.com/l/_lEUt0Jkw4J6U
https://dl.doubtnut.com/l/_FvV6kK9tBD3d


B. 

C. 5

D. 4

Answer: A

Watch Video Solution

−5

19. If  then  is equal to

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

un = sinn θ + cosn θ, 2u6 − 3u4

−1

12 sin2 θ cos2 θ

12 tan2 θ cos2 θ

https://dl.doubtnut.com/l/_FvV6kK9tBD3d
https://dl.doubtnut.com/l/_vLkAld9QT7wE
https://dl.doubtnut.com/l/_ajiKxfryc8Cu


20. If  then the value of 

 is equal to

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

sinx + sin2 x = 1,

cos12 x + 3 cos10 x + 3 cos8 x + cos6 x − 2

−1

21. If  then find the value of 

A. 

B. 250

C. 50

10 sin4 α + 15 cos4 α = 6,

27 cos ec6α + 8 sec6 α.

125

https://dl.doubtnut.com/l/_ajiKxfryc8Cu
https://dl.doubtnut.com/l/_vkHm4J3NXSEG


D. 75

Answer: B

Watch Video Solution

22. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinα = ⇒ secα − tanα =
2xy

x2 + y2

p − q

p + q

pq

p2 + q2

p + q

p − q

pq

P + q

23. If  then secθ − tan θ = ,
a + 1

a − 1
cos θ =

https://dl.doubtnut.com/l/_vkHm4J3NXSEG
https://dl.doubtnut.com/l/_9i5uaNOG5djc
https://dl.doubtnut.com/l/_g8SS9OqjkXai


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a2 + 1

a2 − 1

a2 − 1

a2 + 1

2a

a2 + 1

2a

a2 − 1

24. If 
 then 
 
 (b) 
 (c) 


(d) 

A. 

B. 

C. 

D. 

Answer: D

secθ = x + ,
1

4x
secθ + tanθ = x,

1

x
2x,

1

2x

−2x,
1

2x
− , x

1

x

−2x or
1

2x

or 4x
1

2x

1

4x

2x or
1

2x

https://dl.doubtnut.com/l/_g8SS9OqjkXai
https://dl.doubtnut.com/l/_MyvRFFmkgAke


Watch Video Solution

25. The value of 

 is equal to

A. 

B. 

C. 1

D. 0

Answer: D

Watch Video Solution

sin6( ) + cos6( ) − 1 + 3 sin2( )cos2( )
π

49

π

49

π

49

π

49

tan6 π

49

cot6 π

49

26. If  then 

A. 

B. x

= y,
2 sinα

{1 + cosα + sinα}
=

{1 − cosα + sinα}

1 + sinα

1

x

https://dl.doubtnut.com/l/_MyvRFFmkgAke
https://dl.doubtnut.com/l/_13g65t8UvxNq
https://dl.doubtnut.com/l/_gVMhrSdaw6yy


C. 

D. 

Answer: B

Watch Video Solution

1 − x

1 + x

27. The value of the expression 

 is

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

1 − + −
sin2 y

1 + cos y

1 + cos y

siny

siny

1 − cos y

siny

cos y

https://dl.doubtnut.com/l/_gVMhrSdaw6yy
https://dl.doubtnut.com/l/_yGN6aCU2bPmS
https://dl.doubtnut.com/l/_sCvCjJCELOSv


28. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
2 sin θ ⋅ tan θ(1 − tan θ) + 2 sin θ sec2 θ

(1 + tan θ)2

sin θ

1 + tan θ

2 sin θ

1 + tan θ

2 sin θ

(1 + tan θ)
2

sin θ

(1 + tan θ)
2

29. If A is an obtause angle, then

 is always equal to

A. 1

B. 

C. 2

+ − 2 tanA cot A.
sin3 A − cos3

sinA − cosA

sinA

√a + tan2 A

−1

https://dl.doubtnut.com/l/_sCvCjJCELOSv
https://dl.doubtnut.com/l/_Z2rYg5FunoZC


D. 

Answer: B

Watch Video Solution

−2

30.  then 

A. 2

B. 0

C. 

D. 1

Answer: A

Watch Video Solution

cos θ + sin θ = 1, sin θ − cos θ = 1
x

a

y

b

x

a

y

b
+ =

x2

a2

y2

b2

−2

https://dl.doubtnut.com/l/_Z2rYg5FunoZC
https://dl.doubtnut.com/l/_Iwl1krTSGNP3


31. If  and  then

A. 

B. 

C. 1

D. 0

Answer: C

Watch Video Solution

x sin3 α + y cos3 α = sinα cosα x sinα − y cosα = 0

x2 + y2 =

−1

±1

32. If 

then 

A. 

B. 

C. 

a cos3 α + 3a cosα sin2 α = m and a sin2 α + 3a cos2 α sinα = n

(m + n) + (m − n) =
2
3

2
3

2a2

2a
1
3

2a
2
3

https://dl.doubtnut.com/l/_rX5AI9Gv4Eej
https://dl.doubtnut.com/l/_qpkFVEPAjQZC


D. 

Answer: C

Watch Video Solution

2a3

33. IF

is

A. 0

B. 

C. 1

D. 2

Answer: C

View Text Solution

tan2 α tan2 β + tan2 β tan2 γ + tan2 γ tan2 α + 2 tan2 α + sin2 β + sin2 γ

−1

https://dl.doubtnut.com/l/_qpkFVEPAjQZC
https://dl.doubtnut.com/l/_ius4gtPMxTUD
https://dl.doubtnut.com/l/_427yjmuitJ7O


34. If , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p = , and q =
2 sin θ

1 + cos θ + sin θ

cos θ

1 + sin θ

pq = 1

= 1
q

p

q − p = 1

p + q = 1

35. If  and  , then

A. 

B. 

C. 

D. 

x = secϕ − tanϕ y = cos ecϕ + cot ϕ

x =
y + 1

y − 1

x =
y − 1

y + 1

y =
1 − x

1 + x

y =
1 + x

(1 − x)
2

https://dl.doubtnut.com/l/_427yjmuitJ7O
https://dl.doubtnut.com/l/_U3SY0gODG7xR


Answer: B

Watch Video Solution

36. If 
 then 
 is equal to
 3

(b)
2 (c) 1
(d) 0

A. 3

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

sin θ1 + sin θ2 + sin θ3, cos θ1 + cos θ2 + cos θ3

37. If , then= sin2 θ
(a + b)

2

4ab

https://dl.doubtnut.com/l/_U3SY0gODG7xR
https://dl.doubtnut.com/l/_gQTIpemWle6Z
https://dl.doubtnut.com/l/_QtoHHhR47Z5F


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2a = b

a = b

a = 2b

a = − b

38. The maximum value of  is

A. 3

B. 4

C. 5

D. 2

Answer: B

Watch Video Solution

12 sin θ − 9 sin2 θ

https://dl.doubtnut.com/l/_QtoHHhR47Z5F
https://dl.doubtnut.com/l/_JrmVpyGRMKGR


Competitive Thinking

39. If , then for all real values of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = sin2 θ + cos4 θ θ

y ∈ [1, 2]

y ∈ [13/16, 1]

y ∈ [3/4, 13/16]

y ∈ [3/4, 1]

1. If  lies in the first quadrant and

A. 0

θ

5 tan θ = 4,  then =
5 sin θ − 3 cos θ

sin θ + 2 cos θ

https://dl.doubtnut.com/l/_JrmVpyGRMKGR
https://dl.doubtnut.com/l/_39QFCZjDnh4r
https://dl.doubtnut.com/l/_zOsUFYEg7vV4


B. 1

C. 

D. 6

Answer: C

Watch Video Solution

1

6

2. The , then: =

A. 1

B. 3

C. 2

D. 4

Answer: C

Watch Video Solution

sin θ + cosecθ = 2 sin2 θ + cosec∘ θ

https://dl.doubtnut.com/l/_zOsUFYEg7vV4
https://dl.doubtnut.com/l/_ntBXfbc5DEWp
https://dl.doubtnut.com/l/_30V9ziXj1odf


3. If 

A. 10

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin θ + cos ecθ = 2, then the volume of sin10 θ + cos ec10θ, is

210

29

2

4. If 
then 
is equal to
 
b. 
c. 

d. 

A. 110

B. 191

C. 80

D. 194

tanA + cot A = 4, tan4 A + cot4 A 110 191 80

194

https://dl.doubtnut.com/l/_30V9ziXj1odf
https://dl.doubtnut.com/l/_gKrBzLy6iEFG


Answer: D

Watch Video Solution

5. The value of  is

A. negative

B. positive

C. zero

D. zero or positive

Answer: A

Watch Video Solution

sin 200∘ + cos 200∘

6. 

A. 0

cos 1∘ . cos 2∘ . cos 3∘ ….cos 179∘ =

https://dl.doubtnut.com/l/_gKrBzLy6iEFG
https://dl.doubtnut.com/l/_NpKpdjVLmlh3
https://dl.doubtnut.com/l/_rbfupfhIyQLD


B. 1

C. 

D. 

Answer: A

Watch Video Solution

−
1

2

−1

7. If  then the value of 

 is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x ∈ [0. ], y ∈ [0, ] and sinx + cos y = 2,
π

2

π

2

x + y

2π

π

π

4

π

2

https://dl.doubtnut.com/l/_rbfupfhIyQLD
https://dl.doubtnut.com/l/_8Mm3Z8dzUAa9


8. If 
then the value of 
is __________

A. 1

B. 

C. 0

D. 2

Answer: A

Watch Video Solution

sin θ − cos θ = 1, sin3 θ − cos3 θ

−1

9. If  then  is

A.  but not 4/5

B. 

C.  but not 

D. Neither  nor 

tan θ = − ,
4
3

sin θ

−4/5

−4/5 or 4/5

4/5 −4/5

4
5

−4
5

https://dl.doubtnut.com/l/_8Mm3Z8dzUAa9
https://dl.doubtnut.com/l/_1ZjpEGj9zDh0
https://dl.doubtnut.com/l/_svF4mIvNHyP7


Answer: B

Watch Video Solution

10. If  lies in the second quadrant, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ = and θ
24
25

secθ + tan θ =

−3

−5

−7

−9

11. If  and  lies in 2nd quadrant ,then  is equal tosin θ =
2t

1 + t2
θ cos θ

https://dl.doubtnut.com/l/_svF4mIvNHyP7
https://dl.doubtnut.com/l/_XdcKLl2ho70V
https://dl.doubtnut.com/l/_X51cNB1wyUSZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 − t2

1 + t2

t2 − 1

1 + t2

−∣∣t − t2∣∣

1 + t2

1 + t2

|1 − t2|

12. If  , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

< α < π
3π

4
√cos ec2α + 2 cot α

1 + cot α

1 − cot α

−1 cot α

−1 + cot α

https://dl.doubtnut.com/l/_X51cNB1wyUSZ
https://dl.doubtnut.com/l/_IsIBahnpOnZo


13. If  then quadrant in which  lies is

A. I

B. IV

C. III

D. II

Answer: D

Watch Video Solution

cos ecθ − cot θ = 2017, θ

14. If  then  is equal to

A. 

B. 

C. 

cos ecθ − cot θ = , 0 < θ < ,
1
2

π

2
cos θ

−3

5

−
5

3

5

3

https://dl.doubtnut.com/l/_IsIBahnpOnZo
https://dl.doubtnut.com/l/_hYieGSjkQ9tQ
https://dl.doubtnut.com/l/_WP7aoHMS9ydz


D. 

Answer: D

Watch Video Solution

3

5

15. If  , then tan A equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos ecA + cot A =
11

2

21

22

15

16

44
117

117
43

16. If  then  is equal tosecθ + tan θ = p, tan θ

https://dl.doubtnut.com/l/_WP7aoHMS9ydz
https://dl.doubtnut.com/l/_tv3npsIgR7dQ
https://dl.doubtnut.com/l/_q9fmLNa9zXR0


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2p

p2 − 1

p2 − 1

2p

p2 + 1

2p

2p

p2 + 1

17. If 
 then 
 equals
 
 (b) 
 (c)


(d) 

A. 

B. 

C. 

D. 

Answer: B

tanθ + secθ, cos θ
ex + e−x

2

2

ex + e−x

ex − e−x

2
ex − e−x

ex + e−x

(ex + e−x)

2

2

(ex + e−x)

(ex − e−x)

2

ex − e−x

(ex + e−x)

https://dl.doubtnut.com/l/_q9fmLNa9zXR0
https://dl.doubtnut.com/l/_ORUn4cQzW7ER


Watch Video Solution

18. If  then 

A. 0

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

sin θ + cos θ = 1 sin θ cos θ =

1

2

19. If  then the value of  is

A. 4

B. 5

C. 2

3 sinA + 5 cosA = 5, (3 cosA − 5 sinA)2

https://dl.doubtnut.com/l/_ORUn4cQzW7ER
https://dl.doubtnut.com/l/_KPFBektrhAwB
https://dl.doubtnut.com/l/_HT0JSQefcW5x


D. 9

Answer: D

Watch Video Solution

20. If , then 

A. 2

B. 2m

C. 2n

D. mn

Answer: A

Watch Video Solution

secθ = m, tan θ = n {(m + n) + }
1

m

1

m + n

https://dl.doubtnut.com/l/_HT0JSQefcW5x
https://dl.doubtnut.com/l/_xvGW53HaJK0n


21. If  and  then 

equals

A. m

B. n

C. 2m

D. 2n

Answer: C

Watch Video Solution

sin θ + cos θ = m secθ + cos ecθ = n n(m + 1)(m − 1)

22. If  then 

A. 4

B. 

C. 

D. 2

2y cos θ = x sin θ and 2x secθ − y cos ecθ = 3, x2 + 4y2 =

−4

−2

https://dl.doubtnut.com/l/_j2dPAImnZ5dL
https://dl.doubtnut.com/l/_mzNls5XrrJ3S


Answer: A

Watch Video Solution

23. If  is equal

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan θ + sin θ = 1,  then cos2 θ = n  thenm2 − n2

m2 − n2 = 4mn

m2 − n2 = 4mn

m2 − n2 = m2 + n2

m2 − n2 = 4√mn

24. If ,

then 

(secα + tanα)(secβ + tanβ)(secγ + tanγ) = tanα tanβ tanγ

(secα − tanα)(secβ − tanβ)(secγ − tanγ) =

https://dl.doubtnut.com/l/_mzNls5XrrJ3S
https://dl.doubtnut.com/l/_QL8p3HtGzGEm
https://dl.doubtnut.com/l/_NKHTNaSApifR


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cot α cot β cot γ

tanα tanβ tanγ

cot α + cot β + cot γ

tanα + tanβ + tanγ

25. If  then  =

A. 2

B. 3

C. 0

D. 1

Answer: C

Watch Video Solution

Pn = cosn θ + sinn θ 2P6 − 3P4 + 1

https://dl.doubtnut.com/l/_NKHTNaSApifR
https://dl.doubtnut.com/l/_xoTcaXUExSmL


26. Prove: 

A. 

B. 

C. 0

D. 1

Answer: C

Watch Video Solution

(secA + tanA − 1)(secA − tanA + 1) = 2 tanA

secA

2 secA

27. 17.  is equal to (a) 1 -2  (b)  (c)

 (d)

A. 

B. 

cos4 θ − sin4 θ sin2( )
θ

2
2 cos2 θ − 1

1 + 2 sin2( )
θ

2
1 + 2 cos2 θ

1 − e sin2( )
θ

2

2 cos2 θ − 1

https://dl.doubtnut.com/l/_xoTcaXUExSmL
https://dl.doubtnut.com/l/_yzFLLtejrr4I
https://dl.doubtnut.com/l/_yKBtZy51GPEk


C. 

D. 

Answer: B

Watch Video Solution

1 + 2 sin2( )
θ

2

1 + 2 cos2 θ

28. Prove each of the following identities : 

 


 


A. 0

B. 

C. 1

D. none of these

Answer: C

W t h Vid S l ti

(i)sin6 θ + cos6 θ = 1 − 3 sin2 θ cos2 θ

(ii)sin2 θ + cos4 θ = cos2 θ + sin4 θ

(iii)cosec4θ − cosec2θ = cot4 θ + cot2 θ

−1

https://dl.doubtnut.com/l/_yKBtZy51GPEk
https://dl.doubtnut.com/l/_bllNecD5rR4t


Watch Video Solution

29. Find the value of 

A. 

B. 0

C. 1

D. 3

Answer: C

Watch Video Solution

6(sin6 θ + cos6 θ) − 9(sin4 θ + cos4 θ) + 4

−3

30. If , then find the value of 

A. 2

B. 1

sinx + sin2 x = 1

cos12 x + 3 cos10 x + 3 cos8 x + cos6 x − 1

https://dl.doubtnut.com/l/_bllNecD5rR4t
https://dl.doubtnut.com/l/_2PLCXAFiPLPM
https://dl.doubtnut.com/l/_jUagVRQoUl07


C. 

D. 0

Answer: D

Watch Video Solution

−1

31. The value of k, for which 

 is an identity, is

A. 

B. 

C. 0

D. 1

Answer: B

Watch Video Solution

(cos x + sinx)2 + k sinx cos x − 1 = 0

−1

−2

https://dl.doubtnut.com/l/_jUagVRQoUl07
https://dl.doubtnut.com/l/_k8gjkha54m0h
https://dl.doubtnut.com/l/_yo3Pc1LDMXaz


32. If 
 is true if and only if
 
 (b) 

(c) 
(d) 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

sec2θ =
4xy

(x + y)2
x + y ≠ 0 x = y, x ≠ 0

x = y x ≠ 0, y ≠ 0

x = y

x < y

x > y

33. Let

then

A. 

B. 

θ ∈ (0, ) and t1 = (tan θ)tan θ, t2 = (tan θ)cot θ, t3 = (cot θ)tan θ and t4
π

4

t1 > t2 > t3 > t4

t4 > t3 > t1 > t2

https://dl.doubtnut.com/l/_yo3Pc1LDMXaz
https://dl.doubtnut.com/l/_N6a9ojU6FDIh


Evaluation Test

C. 

D. 

Answer: B

Watch Video Solution

t3 > t1 > t2 > t4

t2 > t3 > t1 > t4

1. If then, 

 is equal to

A. 

B. 

C. 

D. 

Answer: B

sinA = a cosB and cosA = b sinB

(a2 − 1)tan2 A + (1 − b2)tan2 B

a2 − b2

a2

a2 − b2

b2

a2 + b2

b2

a2 + b2

a2

https://dl.doubtnut.com/l/_N6a9ojU6FDIh
https://dl.doubtnut.com/l/_7FqNgvYmgos3


Watch Video Solution

2. If  then  (A) 

 (B)  (C)  (D) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ = and tanϕ = ,
x sinϕ

1 − x cos ϕ

y sin θ

1 − y cos θ
=

x

y
sinϕ

sin θ

sin θ

sinϕ

sinϕ

1 − cos θ

sin θ

1 − cos ϕ

sinϕ

sin θ

sin θ

sinϕ

sinϕ

1 − cos θ

sin θ

1 − cos ϕ

3. If  and 

then 

A. 

a sin2 x + b cos2 x = c, b sin2 y + a cos2 y = d a tanx = b tany

= ....... . (0 < x, y < )
a2

b2

π

2

(b − c)(d − b)

(a − d)(c − a)

https://dl.doubtnut.com/l/_7FqNgvYmgos3
https://dl.doubtnut.com/l/_BQHKrEKiExS2
https://dl.doubtnut.com/l/_byhGWZU3tGMv


B. 

C. 

D. 

Answer: B

Watch Video Solution

(a − d)(c − a)

(b − c)(d − b)

(d − a)(c − a)

(b − c)(d − b)

(b − c)(d − b)

(c − a)(a − d)

4. If

=

A. 1

B. 2

C. 

D. 0

Answer: A

cosec θ − sin θ = m, secθ − cos θ = n,  then (m2n)
2 / 3

+ (mn2)
2 / 3

1

2

https://dl.doubtnut.com/l/_byhGWZU3tGMv
https://dl.doubtnut.com/l/_GycMJYsHyEa3


Watch Video Solution

5. यदि  , तो सिद्ध कीजिए कि 

 .

A. 2

B. 1

C. 3

D. 4

Answer: D

Watch Video Solution

sinx + sin2 x + sin3 x = 1

cos6 x − 4 cos4 x + 8 cos2 x − 4 = 0

6. If  and  then which of the following

is correct

A. 

cot θ + tan θ = m secθ − cos θ = n

m(mn2)
1 / 3

− n(nm2)
1 / 3

= 1

https://dl.doubtnut.com/l/_GycMJYsHyEa3
https://dl.doubtnut.com/l/_XqdF878vLlFK
https://dl.doubtnut.com/l/_2NdyINmkGxfn


B. 

C. 

D. 

Answer: A

Watch Video Solution

m(m2n)
1 / 3

− n(mn2)
1 / 3

= 1

n(mn2)
1 / 3

− m(mn2)
1 / 3

= 1

m(m2n)
1 / 3

− m(mn2)
1 / 3

= 1

7. If  then which one ofhte following is

incorrect?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = ,
sin4 θ

a

cos4 θ

b

1

a + b

=
sin4 θ

a2

cos4 θ

b2

=
sin4 θ

b2

cos4 θ

a2

sin4 θ =
a2

(a + b)2

+ =
sin8 θ

a3

cos8 θ

b3

1

(a + b)3

https://dl.doubtnut.com/l/_2NdyINmkGxfn
https://dl.doubtnut.com/l/_QhBFDK8vVlKW


8. If  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x sin θ = y cos θ = ,
2z tan θ

1 − tan2 θ
4z2(x2 + y2) =

(x2 + y2)

(x2 − y2)

(x2 − y2)

(x2 + y2)

9. If  where 

 then  is equal to

A. 1

B. 

C. 

3 cot A = − 6, secB = − 2√10,

< A < π, π < B < ,
π

2

3π

2
cos ecA − tanB

−1

√5 − √39

https://dl.doubtnut.com/l/_QhBFDK8vVlKW
https://dl.doubtnut.com/l/_r4o0G4HS0SDB
https://dl.doubtnut.com/l/_MJtfqXIeN22w


D. 

Answer: C

Watch Video Solution

−2

10. let , ,  and 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

0 < ϕ <
π

2
x =

∞

∑
n= 0

cos2n ϕ y =
∞

∑
n= 0

sin2n ϕ

z =
∞

∑
n= 0

cos2n ϕ sin2n ϕ

xyz = xz + y

xyz = xy + z

xyz = x + yz

https://dl.doubtnut.com/l/_MJtfqXIeN22w
https://dl.doubtnut.com/l/_IF0cmaYkDO0z

